H & 0l & AHS B Ml A

S BIRZAD
HE: FOIMYEO|TD
ool Zetold CEEE)
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
5,211,477 4,578,499 632,978
2 2,215,448 2,114,917 100,531
= 271,501 271,501 0
=z 2,724,528 2,192,081 530,447
340,587 355,585 A14,998
2 43,610 43,610 0
2 296,977 311,975 A14,998
277,629 290,135 A12,506
2 43,610 43,610 0
2 234,019 246,525 A12,506
2 234,019 246,525 A12,506
ST 196,844 208,540 A11,69%
EEEET 162,266 163,962 A11,69%
DIRA PR REE
2 109,404,002 109, 404 21,100 A11,69%
18,390 19,200 2810
18,390 19,200 2810
ER=EES STV
A 15,990, 0002 15,990 16,800 2810
PN 29,874 41,010 A1,136
L4018 29,874 41,010 A1,136
201 2er2 | 34,174 3,010 2836
01 Al 22l 34,174 3,010 £836
HTOI 61 IHS (0144517H)
27 28,864,002 28,864 29,700 £836
5,700 6.000 2300
5,700 6.000 A300
2 QLRI 2UH0IH)
2% 50,0002+ +573] 5,700 6,000 A300
=gt 23,084 24,440 A1,356
=808 23,084 24,440 A1,356
ST 1,924 2,440 A516
NEEEI 1,924 2,440 A516
=AY ARSE 7Y
2% 58,0002 58 840 ~258
AR DAL
2% 1,342,002 1,342 1,600 £258
20, 160 21,000 £840
20, 160 21,000 2840
2 QRRT AUY0IH)
23 20,160,002 20, 160 21,000 £840
28 4,116,564 4,181,811 765,247
2 2,171,838 2,071,307 100,531
= 271,501 271,501 0
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QI S At
NEAFSHAEIE

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
= 1,673,225 1,839,003 A165,778
INE=PGESIN, 1,160,980 1,086,840 94,140
= 807,369 706,838 100,531
= 4,563 4,563 0
i 349,048 355,439 26,391
INESPU BN 337,522 343,913 26,391
201 e 30,522 36,913 26,391
01 Ar2teltl 21,022 26,913 5,891
DXETHEARIRE 29+
& 03 0 600 A600
DXEMZAAIY 2HEIL =22
Z2& 9,709,000& 9,709 15,000 25,201
02 224l 9,500 10,000 A500
DXETHEAAIY RBRZ
Z2& 9,500,000 9,500 10,000 A500
KETHEAHEZ) 807,369 706,838 100,531
= 807,369 706,838 100,531
201 2E2 & 47,676 42,045 5,631
= 47,676 42,045 5,631
01 ArR2eltl 43,176 37,545 5,631
DXETZAIAIY AIREE 22HI(4)
Z& 1,000,000& 1,000 500 500
= 1,000 500 500
DXIETZAIAIY 2B B2 ()
2 & 17,887,000 17,887 15,000 2,887
= 17,887 15,000 2,887
DXETMZAA DI EHESY +22(4)
Z& 17,289,000& 17,289 15,045 2,244
= 17,289 15,045 2,244
202 (4t 4,400 3,000 1,400
= 4,400 3,000 1,400
01 =LHOBI 4,400 3,000 1,400
DXETHEAAIY 2HAPI(A)
2 & 4,400,000 4,400 3,000 1,400
= 4,400 3,000 1,400
308 REXISHMSOIH 755,293 661,793 93,500
= 755,293 661,793 93,500
11 SISO E AR PEAIS I 755,293 661,793 93,500
DXIETHEAAIY S22 >2(4)
Z& 755,293,000 755,293 661,793 93,500
= 755,293 661,793 93,500
EXzel 490,798 499,160 A8,362
= 102,147 102,147 0
& 10,678 10,678 0
= 377,973 386,335 A8,362
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chel: EXi2el EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
EX2e 31,590 36,090 24,500
201 Zet=d] 23,090 24,590 A 1,500
01 AlR2teldl 23,090 24,590 A1,500
NHLRES LI dE2
Zd 850,000 *102] 8,500 10,000 A1,500
202 Ot 7,000 10,000 3,000
01 2LHO L] 7,000 10,000 3,000
NEX2e| PRFE L0
& 50,0003 4H*353] 7,000 10,000 3,000
CREFA 118,398 121,923 N3,525
201 Zet2d] 106,750 110,275 N3,525
2 s3=234l 104,400 107,925 N3,525
NEZYFA INEH SBAAH KL
33 19,000,000 19,000 20,205 A1,205
NESUEEIRAIAE SN2
& 43,300,000 43,300 44,400 A1,100
N=NISAUHIESEHH SN2+
3 26,500,000 26,500 27,720 A1,220
SESMSEXR 8,093 8,430 N337
202 O] 6,413 6,750 N337
01 2HAY] 6,413 6,750 NA337
NSRA PRF8 U0
&4 3,413,000 3,413 3,750 A337
AR 2,400,246 2,551,271 A 151,025
= 1,262,322 1,262,322 0
< 256,260 256,260 0
z 831,664 1,032,689 A 151,025
A= 24,460 32,250 AT,790
201 Zet=Ehl 13,950 21,250 A7,300
01 AlR2telHl 13,950 21,250 AT7,300
NEEZAL & A U2
Z& 9,000,000 9,000 15,300 26,300
NA=AYE &
3& 2,150,000& 2,150 3,150 A 1,000
202 04l 10,510 11,000 A40
01 2HA] 10,510 11,000 Yaviie )
NA= PRFX IO
44 10,510,000 10,510 11,000 A40
HEEHMSAISEXE(EX) 24,579 37,814 A13,235
= 18,907 18,907 0
< 5,672 5,672 0
z 0 13,235 A13,235
301 LetEAS 24,579 37,814 A13,235
= 18,907 18,907 0
< 5,672 5,672 0
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cH: (Sl X))
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
= 0 13,235 A13,235
01 AR B XG2S (BREXTS) 24,579 37,814 ~13,235
NEEEN Al SEXL
AE 24,579,0002 24,579 37,814 A13,235
= 18,907 18,907 0
[ 5,672 5,672 0
= 0 13,235 A13,235
SISXR(EX) 140,000 240,000 100,000
402 QI+ XH=0| A 140,000 240,000 100,000
01 QIZERF AL E R (TR T ) 140,000 240,000 100,000
NetSAEF(44H) HISXRA
& 140,000,000 140,000 240,000 100,000
F BN 332,400 362,400 30,000
[ 62,400 62,400 0
2 270,000 300,000 230,000
301 YBtEAZ 332,400 362,400 30,000
[= 62,400 62,400 0
= 270,000 300,000 30,000
14 IIEt2 A= 332,400 362,400 A30,000
1EIRFEIA ZF 332,400,000 332,400 362,400 A30,000
[ 62,400 62,400 0
= 270,000 300,000 30,000
Y2 (LU SA) 29,804 28,093 1,711
J|=2a| 29,804 28,093 1,711
Jl23| 29,804 28,093 1,711
203 HRE=XY| 8,704 6,993 1,711
01 J|2A2H ALY 3,664 1,953 1,711
NI 2A2HYLFA 33 3,664,000 3,664 1,953 1,711
LSS (DISAH) 724,522 13,010 711,512
SrSONES 724,522 13,010 711,512
SFSONES 724,522 13,010 711,512
802 Lrar=20|E 724,522 13,010 711,512
01 2NEX3HE= 644,294 11,988 632,306
12022 FH30 KFAIY 2N2x2 T
ZtoH 617,292, 1502 617,293 0 617,293
120228 =HS0 XAY 2DEX2 01A
Bt 14,948,7002 14,949 0 14,949
12022 SO0IE ZO0HO FEIWEAIY 208
T2 0|Rbety 2,050 3 0 3
1)2022 WS ZBAIXIJIEAL 2DEX2 01X
60,3602 61 0 61
02 Al - SHIEX3EHE3 80,228 1,022 79,206
N2R1E ESASEXIY 29X THIEX
2 OIXt et 1,340 2 0 2




SA: QIRIEALD
HH: PSS (AZAM)
Sl 2HAE EERE)
A -3 - AA(3H) - MRAY - BE= Of] koK J| & o Hus2
N202eE =HZ0 XA THIBEZ2 &8
&roH 77,161,530 77,162 77,162
120224 Z=HZ 04 KA SHIEEZ2 0K
Bt 1,850,380 1,851 1,851
12022 SO{E Q! FEHIHEALY SHIE
=2 O|XpBret 710¢ 1 1
)20 SRR AT OHYAlES MR Y
SAIL| THIEE2 0K Byt
330 1 1
12022 2OIXBHST AX| AZOHE DA
Ol Kt Bt 4,2402 5 5
12022 2IIXNEHAST 4% TH 2X2 &
s Xiod 8,788% 9 9
12022 2OINEHSTE A% TH BX2 0|
Xt Bt 6,500 7 7
1)2022E MIHISKIH REHSIAIY THIBX2
Ol Krehet 27,2002 28 28
120228 XX MASXIAHSEE AlEAIS
CHIEXZ 0| Xjete 139, 1602 140 140




